
cod. DCP06

Aprilia RSV4/Tuono V4 ’17/’20

OEM parts

OEM parts

OEM parts

M5x12 TB

M5x12 TB

M5x10 TB

M5x10 TB

M5x10 TB

M4x10 TB

M4x10 TB

ø4mm - Nylon

ø4mm - Nylon

SP_DCP06

DCP06_E

Bonamici Racing recommends the use of an
anti-fog spray.
Bonamici Racing raccomanda l’utilizzo di un prodotto
antiappannamento.

ATTENTION - ATTENZIONE


